Bid Schedule A

Project No.: PRA-NATR 1I(1)

Project Name: PAVE REHAB MP 392 TO 415, FALLHOLLOW DEVILSBACKBONE OLDTRACE SHEBOSS

State: TN Opened at: Sterling, VA
County: LEWIS By: P. Schaad
NATCHEZ TRACE PARKWAY Date: 01/07/2010

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Peggy Schaad

Title: Contract Specialist Date: 1/12/2010

Contract Awarded to: W.M.C Contracting Company, Inc. Date: 2/25/2010

Contractor	Bid Amount	Responsive
W.M.C Contracting Company, Inc. P.O. Box 85	2,289,035.40	
1142 South High Stre		
Trenton, TN 38382		
Wright Paving Constructors, Inc.	2,461,472.06	
372 Shelbyville Highway	, ,	
Fayetteville, TN 37334		
Inland Construction & Equipment, In	3,648,013.48	
309 East 11th Street	, ,	
Panama City, FL 32401		
Engineer's Estimate	2,000,000.00	

Date: 01/1G/F0

Bid Schedule A

Project No.: PRA-NATR 1I(1)

Project Name: PAVE REHAB MP 392 TO 415, FALLHOLLOW DEVILSBACKBONE OLDTRACE SHEBOSS

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
W.M	.C Contracting Co	mpany, Inc.	ALL	20,000.00	20,000.00
	ht Paving Constru			44,385.00	44,385.00
Inlan	d Construction &	Equipment, In		132,333.75	132,333.75
	INEER'S ESTIMA			149,685.00	149,685.00
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
W.M	.C Contracting Co	mpany, Inc.	ALL	15,000.00	15,000.00
Wrig	ht Paving Constru	ctors, Inc.		24,462.22	24,462.22
Inlan	d Construction &	Equipment, In		30,775.29	30,775.29
ENG	INEER'S ESTIMA	ATE		24,000.00	24,000.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
W.M	.C Contracting Co	mpany, Inc.	ALL	24,700.00	24,700.00
Wrig	ht Paving Constru	ctors, Inc.		10,000.00	10,000.00
Inlan	d Construction &	Equipment, In		30,775.29	30,775.29
ENG	INEER'S ESTIMA	ATE		35,000.00	35,000.00
20301-2400	EACH	REMOVAL OF SIGN			
W.M	.C Contracting Co	mpany, Inc.	2	247.50	495.00
Wrig	ht Paving Constru	ctors, Inc.		2,150.00	4,300.00
Inlan	d Construction &	Equipment, In		1,046.36	2,092.72
ENG	INEER'S ESTIMA	ATE		125.00	250.00
20315-0000	LNFT	SAWCUTTING PAVE	MENT		
W.M	.C Contracting Co	mpany, Inc.	500	13.75	6,875.00
Wrig	ht Paving Constru	ctors, Inc.		5.00	2,500.00
Inlan	d Construction &	Equipment, In		13.23	6,615.00
ENG	INEER'S ESTIMA	ATE		5.00	2,500.00
30101-4000	TON	AGGREGATE BASE G	RADING C OR D		
W.M	.C Contracting Co	mpany, Inc.	25	38.50	962.50
Wrig	ht Paving Constru	ctors, Inc.		50.00	1,250.00
Inlan	d Construction &	Equipment, In		123.10	3,077.50
ENG	INEER'S ESTIMA	ATE		50.00	1,250.00
30501-0000	TON	AGGREGATE-TOPSO	IL COURSE		
W.M	.C Contracting Co	mpany, Inc.	500	38.50	19,250.00
Wrig	ht Paving Constru	ctors, Inc.		50.00	25,000.00
Inlan	d Construction &	Equipment, In		61.55	30,775.00
ENG	INEER'S ESTIMA	ATE		45.00	22,500.00

Date: 01/FGÐF€

Bid Schedule A

Project No.: PRA-NATR 1I(1)

Project Name: PAVE REHAB MP 392 TO 415, FALLHOLLOW DEVILSBACKBONE OLDTRACE SHEBOSS

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
40310-0100	SQYD	HOT ASPHALT CON	CRETE PAVEMENT, 1-II	NCH DEPTH	
W.M	.C Contracting Con	mpany, Inc.	314,000	5.65	1,774,100.00
Wrig	ht Paving Construc	etors, Inc.		5.56	1,745,840.00
Inlan	d Construction & I	Equipment, In		9.36	2,939,040.00
ENG	INEER'S ESTIMA	TE		4.80	1,507,200.00
41301-0000	SQYD	ASPHALT PAVEMEN	NT MILLING (PARKING	AREAS ONLY)	
W.M	.C Contracting Con	mpany, Inc.	1,100	6.60	7,260.00
Wrig	ht Paving Construc	ctors, Inc.		9.81	10,791.00
Inlan	d Construction & I	Equipment, In		4.92	5,412.00
ENG	INEER'S ESTIMA	TE		10.00	11,000.00
41301-0200	SQYD	ASPHALT PAVEMEN	NT MILLING, 1-INCH DE	PTH (BRIDGES ON	ILY)
W.M	.C Contracting Con	mpany, Inc.	3,025	4.70	14,217.50
Wrig	ht Paving Construc	etors, Inc.		4.02	12,160.50
Inlan	d Construction & I	Equipment, In		4.92	14,883.00
ENG	INEER'S ESTIMA	TE		5.00	15,125.00
41405-0000	LNFT	SAW CUTTING AND	JOINT SEALING		
W.M	.C Contracting Con	mpany, Inc.	1,900	2.15	4,085.00
Wrig	ht Paving Construc	ctors, Inc.		2.50	4,750.00
Inlan	d Construction & I	Equipment, In		13.23	25,137.00
ENG	INEER'S ESTIMA	TE		6.00	11,400.00
63302-0000	SQFT	SIGN SYSTEM			
W.M	.C Contracting Con	mpany, Inc.	18	30.80	554.40
Wrig	ht Paving Construc	ctors, Inc.		10.64	191.52
Inlan	d Construction & I	Equipment, In		240.05	4,320.90
ENG	INEER'S ESTIMA	TE		90.00	1,620.00
63308-3000	EACH	OBJECT MARKER, T	YPE 3		
W.M	.C Contracting Con	mpany, Inc.	44	319.00	14,036.00
	ht Paving Construc			138.15	6,078.60
Inlan	d Construction & I	Equipment, In		43.09	1,895.96
ENG	INEER'S ESTIMA	TE		80.00	3,520.00
63401-1500	LNFT	PAVEMENT MARKI	NGS, TYPE H, SOLID		
W.M	.C Contracting Con	mpany, Inc.	376,000	0.80	300,800.00
Wrig	ht Paving Construc	etors, Inc.		0.83	312,080.00
Inlan	d Construction & I	Equipment, In		0.78	293,280.00
ENG	INEER'S ESTIMA	ATE		0.25	94,000.00

Page 3

Date: 01/FGÐF€

TABULATION OF BIDS

Bid Schedule A

Project No.: PRA-NATR 1I(1)

Project Name: PAVE REHAB MP 392 TO 415, FALLHOLLOW DEVILSBACKBONE OLDTRACE SHEBOSS

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63401-1600	LNFT	PAVEMENT MARKIN	GS, TYPE H, BROKEN		_
W.M.	C Contracting Con	mpany, Inc.	73,000	0.50	36,500.00
Wrigh	nt Paving Construc	etors, Inc.		0.44	32,120.00
Inland	d Construction & I	Equipment, In		0.78	56,940.00
ENG	INEER'S ESTIMA	TE		0.15	10,950.00
63501-0000	LPSM	TEMPORARY TRAFF	IC CONTROL		
W.M.	C Contracting Con	mpany, Inc.	ALL	35,200.00	35,200.00
Wrigh	nt Paving Construc	etors, Inc.		203,406.42	203,406.42
Inland	d Construction & I	Equipment, In		61,550.58	61,550.58
ENGI	INEER'S ESTIMA	TE		80,000.00	80,000.00
63701-0000	EACH	FIELD OFFICE			
W.M.C Contracting Company, Inc. 1			15,000.00	15,000.00	
Wrigh	nt Paving Construc	etors, Inc.		22,156.80	22,156.80
-	d Construction & I			9,109.49	9,109.49
	NEER'S ESTIMA	• •		30,000.00	30,000.00

Bid Schedule A

Project No.: PRA-NATR 1I(1)

Project Name: PAVE REHAB MP 392 TO 415, FALLHOLLOW DEVILSBACKBONE OLDTRACE SHEBOSS

BID TOTAL CHECK PASS

Date: 01/FGĐF€

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
W.M.C Contracting Company, Inc.	2,289,035.40	2,289,035.40	
Wright Paving Constructors, Inc.	2,461,472.06	2,461,472.06	
Inland Construction & Equipment, In	3,648,013.48	3,648,013.48	

The apparent low bidder is 14 % above the engineer's estimate.

Bid Schedule A

Project No.: PRA-NATR 1I(1)

Project Name: PAVE REHAB MP 392 TO 415, FALLHOLLOW DEVILSBACKBONE OLDTRACE SHEBOSS

BID ITEM CHECK PASS

Date: 01/12/10

Extension Extension	Bidder	Item No.	Bidder's Extension	
---------------------	--------	----------	-----------------------	--

No extension errors in this Schedule.

Bid Schedule B (Option 1)
Project No.: PRA-NATR 1I(1)

Project Name: PAVE REHAB MP 415 TO 419, SWANVIEW TOBACCOFARM JACKSONFALLS GORDONHOUSE

State: TN Opened at: Sterling, VA
County: LEWIS By: P. Schaad
NATCHEZ TRACE PARKWAY Date: 01/07/2010

I certify that this Bid Tabulation accurately reflects the bids received	and publicly opened for this solicitation.
Signed: Peggy Schaad	
Title: Contract Specialist	Date: 01/12/10
Contract Awarded to:	Date:

Contractor	Bid Amount	Responsive
W.M.C Contracting Company, Inc.	562,692.50	
P.O. Box 85		
1142 South High Stre		
Trenton, TN 38382		
Wright Paving Constructors, Inc.	596,896.37	
372 Shelbyville Highway		
Fayetteville, TN 37334		
Inland Construction & Equipment, In	906,410.22	
309 East 11th Street		
Panama City, FL 32401		
Engineer's Estimate	500,000.00	

Date: 01/FGÐF€

Bid Schedule B (Option 1)
Project No.: PRA-NATR 1I(1)

Project Name: PAVE REHAB MP 415 TO 419, SWANVIEW TOBACCOFARM JACKSONFALLS GORDONHOUSE

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
W.M.	C Contracting Co	mpany, Inc.	ALL	10,000.00	10,000.00
Wrig	nt Paving Constru	ctors, Inc.		4,660.46	4,660.46
Inland	d Construction &	Equipment, In		37,673.77	37,673.77
ENG	NEER'S ESTIMA	ATE		24,770.00	24,770.00
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
W.M.	C Contracting Co	mpany, Inc.	ALL	5,000.00	5,000.00
Wrig	nt Paving Constru	ctors, Inc.		9,568.61	9,568.61
Inlan	d Construction &	Equipment, In		8,646.44	8,646.44
ENG	INEER'S ESTIMA	ATE		6,000.00	6,000.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
W.M.	C Contracting Co	mpany, Inc.	ALL	6,325.00	6,325.00
Wrig	nt Paving Constru	ctors, Inc.		5,000.00	5,000.00
Inland	d Construction &	Equipment, In		8,646.44	8,646.44
ENG	NEER'S ESTIMA	ATE		8,750.00	8,750.00
20315-0000	LNFT	SAWCUTTING PAVEN	MENT		
W.M.	C Contracting Co	mpany, Inc.	90	13.75	1,237.50
Wrig	nt Paving Constru	ctors, Inc.		10.00	900.00
Inland	d Construction &	Equipment, In		13.28	1,195.20
ENG	INEER'S ESTIMA	ATE		5.00	450.00
30101-4000	TON	AGGREGATE BASE G	RADING C OR D		
W.M.	C Contracting Co	mpany, Inc.	6	38.50	231.00
Wrig	nt Paving Constru	ctors, Inc.		100.00	600.00
Inland	d Construction &	Equipment, In		185.28	1,111.68
ENG	NEER'S ESTIMA	ATE		50.00	300.00
30501-0000	TON	AGGREGATE-TOPSOI	L COURSE		
W.M.	C Contracting Co	mpany, Inc.	80	38.50	3,080.00
Wrig	nt Paving Constru	ctors, Inc.		50.00	4,000.00
Inland	d Construction &	Equipment, In		74.11	5,928.80
ENG	NEER'S ESTIMA	ATE		45.00	3,600.00
40310-0100	SQYD	HOT ASPHALT CONC	RETE PAVEMENT, 1-	INCH DEPTH	
W.M.	C Contracting Co	mpany, Inc.	78,000	5.75	448,500.00
	nt Paving Constru	2 0 .	•	5.89	459,420.00
_	d Construction &			9.57	746,460.00
	NEER'S ESTIMA			4.80	374,400.00

Date: 01/FGÐF€

Bid Schedule B (Option 1)
Project No.: PRA-NATR 1I(1)

Project Name: PAVE REHAB MP 415 TO 419, SWANVIEW TOBACCOFARM JACKSONFALLS GORDONHOUSE

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
41301-0000	SQYD	ASPHALT PAVEME	NT MILLING (PARKING	AREAS ONLY)	
W.M	I.C Contracting Compa	any, Inc.	2,250	6.60	14,850.00
Wrig	ght Paving Constructor	s, Inc.		9.33	20,992.50
	nd Construction & Equ	•		4.94	11,115.00
ENC	SINEER'S ESTIMATE			10.00	22,500.00
41405-0000	LNFT	SAW CUTTING ANI	D JOINT SEALING		
W.M	I.C Contracting Compa	any, Inc.	600	2.15	1,290.00
Wrig	ght Paving Constructor	s, Inc.		2.50	1,500.00
Inlar	nd Construction & Equ	ipment, In		13.28	7,968.00
ENC	GINEER'S ESTIMATE			6.00	3,600.00
63308-3000	EACH	OBJECT MARKER,	ТҮРЕ 3		
W.M	I.C Contracting Compa	any, Inc.	16	319.00	5,104.00
Wrig	ght Paving Constructor	s, Inc.		138.15	2,210.40
Inlar	nd Construction & Equ	ipment, In		43.23	691.68
ENC	GINEER'S ESTIMATE			80.00	1,280.00
63401-1500	LNFT	PAVEMENT MARK	INGS, TYPE H, SOLID		
W.M	I.C Contracting Compa	any, Inc.	55,500	0.80	44,400.00
Wrig	ght Paving Constructor	s, Inc.		0.83	46,065.00
	nd Construction & Equ	•		0.78	43,290.00
ENC	GINEER'S ESTIMATE			0.25	13,875.00
63401-1600	LNFT	PAVEMENT MARK	INGS, TYPE H, BROKEN		
W.M	I.C Contracting Compa	any, Inc.	16,500	0.50	8,250.00
Wrig	ght Paving Constructor	s, Inc.		0.44	7,260.00
	nd Construction & Equ	•		0.78	12,870.00
ENC	GINEER'S ESTIMATE			0.15	2,475.00
63501-0000	LPSM	TEMPORARY TRAF	FFIC CONTROL		
W.M	I.C Contracting Compa	any, Inc.	ALL	12,925.00	12,925.00
Wrig	ght Paving Constructor	s, Inc.		29,270.40	29,270.40
Inlar	nd Construction & Equ	ipment, In		18,528.08	18,528.08
ENC	SINEER'S ESTIMATE			20,000.00	20,000.00
63701-0000	EACH	FIELD OFFICE			
W.M	I.C Contracting Compa	any, Inc.	1	1,500.00	1,500.00
Wrig	ght Paving Constructor	s, Inc.		5,449.00	5,449.00
Inlar	nd Construction & Equ	ipment, In		2,285.13	2,285.13
ENC	GINEER'S ESTIMATE			18,000.00	18,000.00

TABULATION OF BIDS Date: 01/FGÐF€

Bid Schedule B (Option 1) Project No.: PRA-NATR 1I(1)

Project Name: PAVE REHAB MP 415 TO 419, SWANVIEW TOBACCOFARM JACKSONFALLS GORDONHOUSE

BID TOTAL CHECK PASS

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
W.M.C Contracting Company, Inc.	562,692.50	562,692.50	
Wright Paving Constructors, Inc.	596,896.37	596,896.37	
Inland Construction & Equipment, In	906,410.22	906,410.22	

The apparent low bidder is 13 % above the engineer's estimate.

Bid Schedule B (Option 1)
Project No.: PRA-NATR 1I (1)

Project Name: PAVE REHAB MP 415 TO 419, SWANVIEW TOBACCOFARM JACKSONFALLS GORDONHOUSE

BID ITEM CHECK PASS

Date: 01/FGĐF€

No extension errors in this Schedule.

Bid Schedule C (Option 2)
Project No.: PRA-NATR 1I(1)

Project Name: PAVE REHAB MP 419 TO 425

State:TNOpened at:Sterling, VACounty:LEWISBy:P. SchaadNATCHEZ TRACE PARKWAYDate:01/07/2010

I certify that this Bid Tabulation accurately reflects the bids received an	d publicly opened for this solicitation
•	a patient of the solution.
Signed: Peggy Schaad	
Title: Contract Specialist	Date: 01/12/10
Contract Awarded to:	Date:

Contractor	Bid Amount	Responsive
W.M.C Contracting Company, Inc. P.O. Box 85 1142 South High Stre Trenton, TN 38382	546,578.50	
Wright Paving Constructors, Inc. 372 Shelbyville Highway Fayetteville, TN 37334	558,538.23	
Inland Construction & Equipment, In 309 East 11th Street Panama City, FL 32401	894,011.95	
Engineer's Estimate	500,000.00	

Date: 01/FGÐF€

Bid Schedule C (Option 2)
Project No.: PRA-NATR 1I(1)

Project Name: PAVE REHAB MP 419 TO 425

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			_
W.M.	C Contracting Co	ompany, Inc.	ALL	5,000.00	5,000.00
	nt Paving Constru			4,143.53	4,143.53
Inland	d Construction &	Equipment, In		37,719.57	37,719.57
ENG	NEER'S ESTIMA	ATE		53,217.50	53,217.50
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
W.M.	C Contracting Co	ompany, Inc.	ALL	5,000.00	5,000.00
Wrigh	nt Paving Constru	ctors, Inc.		1,700.00	1,700.00
Inland	d Construction &	Equipment, In		8,656.95	8,656.95
ENG	NEER'S ESTIMA	ATE		6,000.00	6,000.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
W.M.	C Contracting Co	ompany, Inc.	ALL	5,060.00	5,060.00
Wrigh	nt Paving Constru	ctors, Inc.		2,000.00	2,000.00
Inland	d Construction &	Equipment, In		8,656.95	8,656.95
ENG	NEER'S ESTIMA	ATE		8,750.00	8,750.00
20315-0000	LNFT	SAWCUTTING PAVEN	MENT		
W.M.	C Contracting Co	ompany, Inc.	120	13.75	1,650.00
Wrigh	nt Paving Constru	ctors, Inc.		10.00	1,200.00
Inland	d Construction &	Equipment, In		13.29	1,594.80
ENG	NEER'S ESTIMA	ATE		6.00	720.00
30101-4000	TON	AGGREGATE BASE G	RADING C OR D		
W.M.	C Contracting Co	ompany, Inc.	6	38.50	231.00
Wrigh	nt Paving Constru	ctors, Inc.		100.00	600.00
Inland	d Construction &	Equipment, In		185.51	1,113.06
ENG	NEER'S ESTIMA	ATE		50.00	300.00
30501-0000	TON	AGGREGATE-TOPSOI	L COURSE		
W.M.	C Contracting Co		120	38.50	4,620.00
	nt Paving Constru	± • ·		50.00	6,000.00
Inland	d Construction &	Equipment, In		74.20	8,904.00
ENG	NEER'S ESTIMA	ATE		45.00	5,400.00
40310-0100	SQYD	HOT ASPHALT CONC	RETE PAVEMENT, 1-	INCH DEPTH	
W.M.	C Contracting Co		74,000	5.65	418,100.00
	nt Paving Constru	± • ·	•	5.51	407,740.00
_	d Construction &	· · · · · · · · · · · · · · · · · · ·		9.58	708,920.00
	NEER'S ESTIMA			4.80	355,200.00

Date: 01/FGÐF€

Bid Schedule C (Option 2)
Project No.: PRA-NATR 1I(1)

Project Name: PAVE REHAB MP 419 TO 425

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
41405-0000	LNFT	SAW CUTTING AND	JOINT SEALING		
W.N	M.C Contracting Co.	mpany, Inc.	750	2.15	1,612.50
	ght Paving Construc			2.50	1,875.00
Inla	nd Construction & I	Equipment, In		13.29	9,967.50
EN	GINEER'S ESTIMA	ATE		6.00	4,500.00
63308-3000	EACH	OBJECT MARKER, T	YPE 3		
W.N	M.C Contracting Co.	mpany, Inc.	20	319.00	6,380.00
	ght Paving Construc			138.15	2,763.00
Inla	nd Construction & 1	Equipment, In		43.28	865.60
EN	GINEER'S ESTIMA	ATE		80.00	1,600.00
63401-1500	LNFT	PAVEMENT MARKIN	NGS, TYPE H, SOLID		
W.N	M.C Contracting Co.		96,250	0.80	77,000.00
	ght Paving Construc		,	0.83	79,887.50
	and Construction & I			0.78	75,075.00
EN	GINEER'S ESTIMA	ATE		0.25	24,062.50
63401-1600	LNFT	PAVEMENT MARKIN	NGS, TYPE H, BROKEN		
W.N	M.C Contracting Co.	mpany, Inc.	15,000	0.50	7,500.00
	ght Paving Construc			0.44	6,600.00
Inla	and Construction & I	Equipment, In		0.78	11,700.00
EN	GINEER'S ESTIMA	ATE		0.15	2,250.00
63501-0000	LPSM	TEMPORARY TRAFF	FIC CONTROL		
W.N	M.C Contracting Co.	mpany, Inc.	ALL	12,925.00	12,925.00
	ght Paving Construc	• •		38,580.00	38,580.00
	and Construction & I			18,550.61	18,550.61
EN	GINEER'S ESTIMA	ATE		20,000.00	20,000.00
63701-0000	EACH	FIELD OFFICE			
W.N	M.C Contracting Co.	mpany, Inc.	1	1,500.00	1,500.00
	ght Paving Construc	- ·		5,449.20	5,449.20
	nd Construction & 1			2,287.91	2,287.91
	GINEER'S ESTIMA			18,000.00	18,000.00

Bid Schedule C (Option 2)
Project No.: PRA-NATR 1I (1)

Project Name: PAVE REHAB MP 419 TO 425

BID TOTAL CHECK PASS

Date: 01/FGÐF€

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
W.M.C Contracting Company, Inc.	546,578.50	546,578.50	
Wright Paving Constructors, Inc.	558,538.23	558,538.23	
Inland Construction & Equipment, In	894,011.95	894,011.95	

The apparent low bidder is 9 % above the engineer's estimate.

 $\begin{array}{c} \mbox{Bid Schedule} \ \ C \ (\mbox{Option 2}) \\ \mbox{Project No.:} \ \ \mbox{PRA-NATR} \ \ \mbox{II} \ (\mbox{1}) \end{array}$

Project Name: PAVE REHAB MP 419 TO 425

BID ITEM CHECK PASS

Date: 01/12/10

Bidder	Item No.	Bidder's Extension	Computed Extension

No extension errors in this Schedule.